QDX 1600H - IP55 GEWIS5

) .
T~




Montaggio piastre base per quadri P=600 mm

Mounting of base plates for boards D=600 mm

Montage des plaques base pour tableaux P=600 mm

Montaje placas base para cuadros P=600 mm

Montage der Basisplatten fir Schréanke T=600 mm

2 @ .

Qo

k&L c

o> o

£€>

o ©

= >

=2 I [ |

Retro / Back
Arriére / Detras
Hinten

65 150

\

280

Retro / Back / Arriére / Detras / Hinten

o o ) ) o o o
O 0OD0DO0Do0oO0DO0oDDO0ODO0OO0DO0ODODODODOODOO0OOOO
Y o o o o °

o to_o

o

o

o

B
i

ooooooao

o o
ooo0oo0oDoO0ooDOoDoDO0oDoDOoDooooao
o o
T o

°
S

0O o0o0oag

3

o
°

o

= T T T T =
o o e o o I o o o o o o o o
o o o - B o

O

goao
S

o

E

2
]
Nmu

o
.

o

B

Fronte / Front / Avant / Frente / Vorne

Montaggio piastre base per quadri P=800 mm

Mounting of base plates for boards D=800 mm
Montage des plaques base pour tableaux P=800
Montaje placas base para cuadros P=800 mm

mm

Montage der Basisplatten fir Schranke T=800 mm

%)
-E_'CI_)‘ N _\C‘E
o £ [SR=1
LQL_)GJ T O
Lr 2 mnAQ
PR o
22 £5
o q)fc
Cz | ] L j g

65 150

450

Retro / Back / Arriére / Detras / Hinten

S

o

> ofe 5 5 S S s 1o S
O 0000000000000 0000000a0 O
ool o 5 > s s o oo

o o ) o ° o 1o o
¢ Oo0oo0oo0DO0OO0DO0O0O0O0O0O0O0O0O0O0O0O0OO0O0OaO0O0 O
ol o o o o o ° °

T -
o0 Do
o (=}
o =}
o o
o0 ¢l o Oo
(i 1oy
o o
o =}
o =}
o0 o o Oo
o o
o o
o
[ T &
o =}
=} =}
o o
o o
- o
=} =}
o =}
o o
.. .o
|k 1o
o o
o =}
=} =}
2 c.
i .

Fronte / Front / Avant / Frente / Vorne




Montaggio quadro singolo
Mounting of single board

Montage tableau seul
Montaje de un unico cuadro
Montage Schrank

S

D

M10x65 (4x)

B
e

M10x65 (4x)

Montaggio quadro con vano affiancato
Mounting of board with side compartment

Montage tableau avec gaine a cables latérale
Montaje de cuadro con vano externo
Montage Schrank mit seitlichem Abteil

M6x12 (5x)




Montaggio vano esterno

Mounting of external compartment
Montage gaine a cébles externe
Montaje del vano externo
Montage externes Abteil

$
\\\\\\\\\\\\\\\\\\\\

M10x65 (4x)

55
\\\\\\\\\\\\\\\\\\\\

M10x65 (4x)

Montaggio telaio
Mounting of frame

Montage chassis
Montaje bastidor
Montage Rahmen

Fronte / Front / Avant / Frente / Vorne

o E o \'\D 0ooo '\2/ /’z\ 0O 0o 5! 0O oo ;!' 0Oo0oo :!' o )

P i H o0 ‘r‘(
. Mk ] .

b @ . . Retro / Back / Arriére c
; : - o Detras / Hinten -

- ' N o o o
I L@ o _E
= : A e;a ;309

; i -4 " o o

i ; : |- - :
. N N op of oo

" N A £ o o

§ . f H H I = o

i " : ° = u] ju]
. 2 "? N © 9

m ; E i ‘| ° ‘_\” ooo 5 ooo i! ooo [:'\ Oooo ;T Oooo J‘ J||




Montaggio telaio ridotto
Mounting of short frame
Montage chassis court
Montaje bastidor reducido
Montage kurze Rahmen

»)

=

M6x12 (2x)




Montaggio guida DIN
Mounting of DIN rail
Montage profilé DIN
Montaje guia DIN
Montage des DIN

M6x10 (4x)

0

28|

H 200

il

U il

L
H 300

218

Smontaggio guida DIN
DIN rail disassembly
Démontage profilé DIN
Desmontaje guia DIN
Demontage des DIN Profils

Montaggio supporto canalina orizzontale

Mounting of support for horizontal wiring duct

Montage des supports de caniveaux a cables horizontales
Montaje de soporte para canaletas horizontales

Montage der horizontalen Halterung fur Verdrahtungskanéle




Montaggio interruttore scatolato su guida DIN 10
Mounting of MCCB DIN rail

Montage appareil boitier moulé sur rail DIN
Montaje de caja moldeada en guia DIN
Montage von Leistungsschaltern auf DIN

AN

ST TTcscccecccscccsscssccccccdciccscssgssesssssesssessssssesse
Y
=

! /
celcccccccboscsccdbdscssscboccncpabocccccabonsssne

0 L, -
" i a9y
Il 4
o 1? °
| ° ‘i el o §
[— :
(I i ol s
Montaggio interruttore scatolato su piastra 1 1
Mounting plate for MCCB'’s

Montage appareil boitier moulé
Montaje de caja moldeada en placa
Montage von Leistungsschaltern auf Montageplatten

e el ) v
:
i
H
H
b
!
H
250 ;
AT ]
H i
4 " ]
Pl oo & Ol o 5 59 : by N
- )
[, i ¢
] 1]
«~—> <>
- = ~< o,
! i
. e a
B ol
,ﬂ-'v e
v alll .
: sl 3
' ol °
! ol
== . ; :
. ’ B s i
' M
k((@ . o : all
e Y [ o M
\N o ¢
\\}>\>\' ~ & ] g : a :ové
4 o T
° . RN
M6x10 (12x) . L
° H ERE P N
H ol
° . a il
e .,
° L ol
0 o T A
v ’ (,,r




Montaggio piastra di fondo
Mounting of general purpose mounting plate

Montage des plaques de fond
Montaje placas de fondo
Montage der Bodenplatten

=\

M6x10 (4x) 7 > )
Cod. |[H(mm) | L(mm) iy = I
GWD3336 | 200 442 Ho |
GWD3337 | 400 442 - S
;::"':\S‘b“; s = ) \: 9 g
GWD3338 | 600 442 el b - ,?f’@
GWD3339 | 800 442 ‘ ‘ ==
U om _ _ All .
GWD3340 | 1000 442 e 0, D RIS P :
GWD3341 200 642 , ( —4 (I
1" 1" I
GWD3342 | 400 642 F N
: ol
GWD3343 | 600 642 N i e
| o a ||* |
GWD3344 | 800 642 : N ‘
GWD3345 | 1000 642 | it e |

Montaggio supporto morsettiera e barra di terra
Mounting of support for earthing bar and terminal block rail

Montage supports bornier et barre de terre
Montaje de soporte para bornas y barra de tierrra
Montage der Erdungsschiene und des Klemmenblockschiene

£

=

£

M6x10 (8x)

0 CC o0 c00s00000000000000C00R0C00000000000000000000000000000030
£ / I ! / /




Montaggio segregazione orizzontale

Mounting of horizontal separation

Montage cloison de séparation horizontale

Montaje separacion horizontal
Montage der horizontalen Schottung

Cod. L(mm) | P(mm)
GWD3377 600 600/800
GWD3378 850 600/800

M6x10 (2x)

a <« O e &

o e o o

@

7

]
s
Ia]
ju
o
a]
°
In]

el

S

o

oflfe

14




Montaggio flange frontali e posteriori zoccolo
Mounting of front and rear plinth cover plates
Montage plastrons avant et arriére du socle
Montaje reborde frontal y posterior del zécalo
Monate der Vorder- und Rickseite des Sockels

; . -
¥ i’;\ " ¢
° 4 o o it ?
| v s pof
Y oy
'
B N o
ol
L { H
I
P RPN a P
{ ® s o
|t
ol e .
g e
o o a it
{ . s o
{ I -
N H o a g
® s fo e
‘
o e
o o s a |
o lis
Y ‘
s o o R
q . 29
’ b [4 ° Y
s
. s o o
§ ! s e
07 I
! ol d
4 s e
et *
N\ ™ ¢
ot
o ile
H
.
o “ g
L e
.
ol
\.

)

M6x12 (4x)

PY=1

15

Montaggio zoccolo addizionale

Mounting of additional plinth . : . :
Montage socle additionnel ) X “elal <l
Montaje zocalo adicional { i o B
Montage des zusétzlicher Sockel N ( . ; i alll
s {7 I m ° e
v i al:
& E R n E
. i <
. f A0 e sk
! : E alls
H ifi: ol
2|k
: B
/ 2
4

M12x20 (4x)

-,

ade

16




Montaggio flange frontali e posteriori zoccolo addizionale
Mounting of front and rear additional plinth cover plates

Montage plastrons avant et arriére du socle additionnel

Montaje reborde frontal y posterior del zdcalo adicional

Montage der Vorder- und Ruckseite des zusétzlicher Sockels

o]
o

o

®

M6x12 (4x)

e

eie

« D eded oL

-1

g e T e o

8l

17

Montaggio golfari

Lifting profiles assembly
Montage des anneaux de levage
Montaje de cancamos

Montage der Transportdsen

18




Montaggio supporti per morsettiera verticale
Mounting of brackets for vertical terminal box

Montage supports pour bornier vertical
Montaje soportes caja de terminales verticales

Montage der vertikal Klammenhalterung

L (mm)
267
447

Cod
GWD3472
GWD3473

uom@/wwmw

M6x10 (2x)

|
)

7 SV S\
’ =4t 24!
) 2
/ .../ n.../
Ay s
e

]
3

ol

g




Montaggio canalina verticale

Mounting of support for vertical wiring duct
Montage goulotte verticale

Montaje de canaleta vertical

Montage des Verdrahtungskanals

60 73 80 _ 53

\4

oopgqoo




Montaggio amarro cavi

Mounting of cable fixing brackets
Montage supports de fixation cables
Montaje amarre de cables

Montage der Kabelbefestigungsbugel

GWD3461 300
GWD3462 400
GWD3463 600
GWD3464 850

M6 (2x)

21

Cod. P (mm)
GWD3465 600
GWD3466 800

M6x10 (2x)

Montaggio pannelli frontali (1/2)
Front panels assembly (1/2)

Montage des panneaux frontales (1/2)
Montaje de los paneles frontales (1/2)
Montage der Vorder Abdeckungen (1/2)

22




Montaggio pannelli frontali (2/2)
Front panels assembly (2/2)

Montage des panneaux frontales (2/2)
Montaje de los paneles frontales (2/2)
Montage der Vorder Abdeckungen (2/2)

23




Accoppiamento strutture
Coupling of structures

Kit d’assemblage structures
Acoplamiento de estructuras
Anreihen von Gestellen




25

Montaggio segregazione verticale
Mounting of vertical separation

Montage cloison de séparation verticale

Montaje de separacion vertical

Montage der vertikalen Schottung

P (mm)

600
60

0

800

H (mm)

1800
2000
2000

Cod.
GWD3371

GWD3372

GWD3374

M6x16 (6x)

N

o fols@hrnyneceactncnsasnsnenesn-as/als@hblaynrnrnensnsn,

uvu.a.n.u.\n.o,«.n/n.n

e — -

— e —

7
- vy =7

]

M6x10 (6x)




Montaggio pannelli posteriori e laterali
Mounting of rear and side panels

Montage des panneaux arriere et laterales
Montaje de los paneles posterior y laterales
Montage der Ruck- und Seitenwénde

T S-S s-s-s-s s-s:e-m-s-c e c-ss-5:=-2:2-5:-8-%-2-#-2-5-5-5+-=4

M6x35 (6x)

LK

e
0
QI
p

9
P
4]
ol y|é
]

M6x35 (6x)

Y Y RV Y EN AW W RN SRR - |

N
.

{

40

L

q

LN EYEY YR K Y KX SN KA R SNV R

26




Montaggio portabarre 250A-400A per quadro singolo B=600/850 mm
Mounting of busbar holders 250A-400A for single board W=600/850 mm
Montage supports de barres 250A-400A pour tableau seul L=600/850 mm
Montaje portabarras 250A-400A para un unico cuadro B=600/850 mm
Montage Sammelschienenhalterungen 250A-400A fiir Schrank B=600/850 mm

600 (24 mod.)
850 (35 mod.)

|

=
=
E

007~

oo
2

007

oo

007

M6x10 (8x)

=
=
°
200 0000000000000 0000dM MECOOOC000000000006000EC
/ |
I
I

qa8/618 |- ‘

e

&

M6 (8)

® @poccccscccos

C1-e-13

aooq—‘—p\
© 0 0o © 0 O 2

0o 00 o000 o0n

M6x20 (8x)
N~ —

007+

°

cooe

©c0o000000

e o0

alpeccoo
=

5
®)

@

T2 ===

e —>

A

007+

oo

20000 000000000000000000000000000C00000000

» O O 0 6 0 O O
A 0 0 © 0 0 0 ¢

L=
Lee-11

°
coecosoce00
Ge00000000000

GWD3721 | GWD3722 |

gooqaoaoa.aoa.oqnon
ll—s%

192

A




Montaggio portabarre 630A per quadro singolo B=600/850 mm 28
Mounting of busbar holders 630A for single board W=600/850 mm

Montage supports de barres 630A pour tableau seul L=600/850 mm
Montaje portabarras 630A para un tnico cuadro B=600/850 mm
Montage Sammelschienenhalterungen 630A fiir Schrank B=600/850 mm

600 (24 mod.)
850 (35 mod.)

M8 (4x)

560 /760

M8x16 (2x)

it

© 0000O0O0GOCOGO O

=
-
seccoccsocoo o)

_2 0 00 00 O0O0OO0 O

-
%

M8x25 (8x)

| \\ \ \ \
m 342 %
|

. 2
eV b

GWD3729 | GWD3731 |




Montaggio portabarre 250A-400A per quadro con vano affiancato e vano esterno
Mounting of busbar holders 250A-400A for board with side compartment and external compartment
Montage supports de barres 250A-400A pour tableau avec gaine a cables latérale et gaine a céble externe 3045
Montaje portabarras 250A-400A para cuadro con vano externo y vano externo

Montage Sammelschienenhalterungen 250A-400A fiir Schrank mit seitlichem Abteil und externes Abteil

600+300 (24 mod.)

1 i .
o

o

0

0

) |

M6x10 (4x) i}

M6x16 (4x)

M6 (4x)

_ 400 o
- -
S SSS=—
@i
°lle
\d ollolls :
olle]lefl 0 M6 (8x)
: lfeflo ® .
'j MI(E (S o
. ool o o
cllello]lo i
’ cll=lle ® o
¢ Rlfe|le ]
. '\-\ ®
M6x20 (8x) I o °
. 1]
2 "
a
.
N .
. 1]
L]
o
. [}
*
; . T2 = ==
.
.
e ﬁ}}} 0 3
. oo . 2 |
v °lielle P o ‘ ‘
* llofloflo . |< 192 > |
h °lle]lo ® o}
= =) ! ° ° o o o
il I b “lie]ls © a
- — * “lle ofle o
S I.J lellslle o
°lle
©
i .
Bl 9
I Y
o .
’ ! U
\ . ,
L}
R o

GWD3733 | GWD3736 |




Montaggio portabarre 630A per quadro con vano affiancato e vano esterno

Mounting of busbar holders 630A for board with side compartment and external compartment
Montage supports de barres 630A pour tableau avec gaine a cébles latérale et gaine a cable externe

Montaje portabarras 630A para cuadro con vano externo y vano externo

Montage Sammelschienenhalterungen 630A fiir Schrank mit seitlichem Abteil und externes Abteil

600+300 (24 mod.)

Y

[k
=)

_ 400 o . u
| :
o o o o I]
i I " ,
< [\
ofg ik
- ©
qo © © ° o
) © o . o .
h © © © : 1}
° ol e . .
e el :
. @ © ry ° °
R ° © © ° o
o e o R
Rdle e ]S n
1] '\".\-0 .
U N
o
.
. .
L]
.
n 9
R a
1]
N :
7} 1]
M\ U
AERIRR :
L
» © © °© © g
© 0 .
v ° © © ° 1}
) o ® o © .
' ° © © ° o
I i 1 0 1 % ‘
[T il . e ol o n
uuuc (3 o) o R
-] L] | PAIRg [ :
- Ezos";e ° °
¢ H H ©
> 7 .. n
a1l ‘ i
| ¥= ®
IC " 3|
;S’@/@, :
Q| :
* 1]
. o
1]
GWD3734 | GWD3737 | . :

M8 (8x)

274

30




Montaggio portabarre per barre piatte 800A-1250A-1600A

Mounting of busbar holders for flat busbars 800A-1250A-1600A

Montage supports de barres pour barres plates 800A-1250A-1600A

Montaje portabarras para barras planas 800A-1250A-1600A

Montage Sammelschienenhalterungen fur flache Sammelschienen 800A-1250A-1600A

(< 80 >« 80>« 80>

31

<-80->{<-80><-80> S R A D RS
@.é@aﬁ.

s Zay | Y ol S [ 705 | Lol e

SISV C U CT IS NSO AU N oo 2L 70|
DS E&&@@%Wﬂ i T

160

1 1 L 1 1 L
oS24 JOL 1624bZo LU JOL | 6T24 5T L4 JOL 1624 pSZu L JOL eS| oS0 JOL |&2dpTa JOL JsT2a Tl JOL | S2dpT L JOL JoS— 4|
D% &%@?& NZANVA uaﬁ?&%@ﬂ] i E]% &%@?& NZANVA uaﬁ?&g&@aﬂ]
a2 NI AN AT Dl)""@a“r [an N i0a | V) | T/ | ) e ua

o w = ”-F‘

390

M10 (9x)

M10 (9x)

M10x160/M10x200 (9x)

GWD3745

GWD3730 | GWD3732 | GWD3735 | GWD3738




Montaggio portabarre 800A-1250A-1600A per quadro singolo B=600/850 mm
Mounting of busbar holders 800A-1250A-1600A for single board W=600/850 mm
Montage supports de barres 800A-1250A-1600A pour tableau seul L=600/850 mm
Montaje portabarras 800A-1250A-1600A para un unico cuadro B=600/850 mm
Montage Sammelschienenhalterungen 800A-1250A-1600A flr Schrank B=600/850 mm

600 (24 mod.)
850 (35 mod.)

>

560 /760

GWD3730 | GWD3732 |

-2

T
. = e 5 s 5

e 5 o 5 ° O e O

e = e B o B ° &

M10 (6x)

M8x16 (4x)

oo 0 00006 e oo YRy
[ty

oo 0o o0 e 0o o
e oo 0 e e e e e

'i

\
Gooa@oooo\

!
)

o @ oo 00 o oo e e

ele o

!

ﬁ

\

T
© oo 20000202009
@ @ @ @ 0 @ e e e o o

o oc/lc 6 0o o000 o oo

R R |

i

oo © © @ 2 00 0 o o

e B e B e B & B e H e =5 = 5
-

oo o o0 oo oo

oo o0 o o0 oo o o

L

o © o 2o ©o 2 0 02 2 0 o

<

[co=)

=

El

c@e

s@e

32




Montaggio portabarre 800A-1250A-1600A per quadro con vano affiancato e vano esterno

Mounting of busbar holders 800A-1250A-1600A for board with side compartment and external compartment
Montage supports de barres 800A-1250A-1600A pour tableau avec gaine a cables latérale et gaine a cable externe
Montaje portabarras 800A-1250A-1600A para cuadro con vano externo y vano externo

Montage Sammelschienenhalterungen 800A-1250A-1600A fir Schrank mit seitlichem Abteil und externes Abteil

600+300 (24 mod.)

A 4

M8x16 (4x)

M8 (4x)

. i
L O
i @“ 0 0 ‘
T 0 :
& ”
P 400 o —
i I - s
™~ rr— - (.
\\m a]
o |
4
° °
U . i
. . o
.
o ° 0
i ° ®
] 3 : :
olll @ : 2l g g
: 0 .
% o [ 0 0
0 . n ®
. : a 0| .
1] o N
. N 0
n o 0 o
’ . .
‘ ] ‘ 4 [ 8 |
. . o | :
o ; o N L1} T 0 o
| : ] Tl
o . [ 4 ollg || 2|l @
0 2] o 0 o ©
| || N 0 . u ol o oo o ‘@
i i ; o ® o .-
. : ¢ 0 o L
: | e lefefe o =
) > . ol o|l%]e © M10 (6x)
| ° N 1 o1l o Ollg o
u o o
"I+ . , . ol o 0'0
° i ()=
L o , i ,1‘» == 0| o o g,
0 \‘»\‘ 2|0
° @) o
o U - 15\
Y ; : ; [ ="
: v : I
Il e ‘ N ~<m N 1| ] 0
| ° ) | °
GWD3735 | GWD3738 | : | & A1 y N

33




600/850 mm e con vano affiancato con telaio ridotto 34

600/850 mm and board with side compartment with short frame

1600A pour tableau seul L=600/850 mm et tableau avec gaine a cébles latérale avec chassis court

1600A para un tnico cuadro B

600/850 mm und Schrank mit seitlichem Abteil mit kurze Rahmen

Mounting of busbar holders 800A-1250A-1600A for single board W=

600/850 mm y cuadro con vano externo con bastidor reducido

1250A-1600A fur Schrank B

1250A

Montaggio portabarre 800A-1250A-1600A per quadro singolo B
Montage Sammelschienenhalterungen 800A

Montage supports de barres 800A-1250A

Montaje portabarras 800A-

M8x16 (4x)

8UIO/\ / 8ludlH / JUBAY / JUOIH / 81U0I- 8UI0/\ / 81UBI / JUBAY / JUOIH / 81U0I-

60
360

@

R0 0 1 S 0 S

USIUIH / Sel1a( / 9JR1UY / oeg / ooy USIUIH / SB419Q / 91Lily / 0Bg / OO

)/

GWD3745 | GWD3747 | GWD3748 |




Montaggio portabarre 800A-1250A-1600A per vano esterno con telaio ridotto
Mounting of busbar holders 800A-1250A-1600A for external compartment with short frame
Montage supports de barres 800A-1250A-1600A pour gaine a cable externe avec chassis court
Montaje portabarras 800A-1250A-1600A para vano externo con bastidor reducido

Montage Sammelschienenhalterungen 800A-1250A-1600A flr externes Abteil mit kurze Rahmen

M10 (2x)

[

£ S

- ~

HE= = 2

= | L

~ ~

ol | . |E

QD

=l = z

< r ~

3 a . |8

© Lo

[an] ~

~ < > Q

o -

"GL_)‘ 360 5

o Lo

- . ‘ :

GWD3745 | GWD3749 | Il ol 12\ el el

35




Montaggio portabarre per barre sagomate in rame 800A-1250A-1600A 36

Mounting of busbar holders for copper busbars with shaped section 800A-1250A-1600A
Montage supports de barres pour barres profilées en cuivre 800A-1250A-1600A
Montaje portabarras para barras perfiladas de cobre 800A-1250A-1600A

Montage Sammelschienenhalterungen fur Kupfernprofil-sammels 800A-1250A-1600A

50 50 50
15 31 32
<-80->| <80 -><-80-> <80 >« 80>« 80>

‘( 80>

¢80+‘ < 80>

SICTN Y A SIS oS IS M2eS 22D 1~ A
T D SN2 ST T
W giaS |2y [Zmmsl) RS [Za Rl g X
1 1

RaS(ZalISyas
SASO .V
VAYIN\ZAN
2 |

2  —
SwASH o
S aS-2<1(|
(CEPP DN
i) W

<7390—>‘

sz
=AU rs2 SABDBES|
WAYI\ZAY

= Jam Yo |

M10 (9x)

M10x150 (9x)

GWD3741 | GWD3742 | GWD3743 | GWD3744 | GWD3746




Montaggio portabarre 800A-1250A-1600A per quadro singolo B=600/850 mm
Mounting of busbar holders 800A-1250A-1600A for single board W=600/850 mm
Montage supports de barres 800A-1250A-1600A pour tableau seul L=600/850 mm

Montaje portabarras 800A-1250A-1600A para un unico cuadro B=600/850 mm

Montage Sammelschienenhalterungen 800A-1250A-1600A fiir Schrank B=600/850 mm

400 (24 mod.)
850 (35 mod.)

e M e M~ e H e B e B e H e B

560 / 760 -]

A
©--__ = | .
o | S H lﬂmuu T
t [l <Gy
: 1
,
e
0
y
0
I
:
:
:
alle
et
"
GWD3741 | GwD37a2 | |© |

9

37




Montaggio portabarre 800A-1250A-1600A per quadro con vano affiancato e vano esterno 38
Mounting of busbar holders 800A-1250A-1600A for board with side compartment and external compartment

Montage supports de barres 800A-1250A-1600A pour tableau avec gaine a cables latérale et gaine a cable externe
Montaje portabarras 800A-1250A-1600A para cuadro con vano externo y vano externo
Montage Sammelschienenhalterungen 800A-1250A-1600A fiir Schrank mit seitlichem Abteil und externes Abteil

600+300 (24 mod.)

| A

M8x16 (4x)

M8 (4x)

LTF

400

A

[=|
=]

IE=Cos

.'lll'H =

Wi

!

GWD3743 | GWD3744




39

600/850 mm e con vano affiancato con telaio ridotto

Mounting of busbar holders 800A-1250A-1600A for single board W=600/850 mm and board with side compartment with short frame

Montaggio portabarre 800A-1250A-1600A per quadro singolo B

600/850 mm et tableau avec gaine a cébles latérale avec chassis court
600/850 mm y cuadro con vano externo con bastidor reducido

Montage supports de barres 800A-1250A-1600A pour tableau seul L:

1600A para un unico cuadro B

1250A

Montage Sammelschienenhalterungen 800A

Montaje portabarras 800A

600/850 mm und Schrank mit seitlichem Abteil mit kurze Rahmen

1600A fir Schrank B=

1250A-

BUIOA / 8lUdlH / JUBAY / JUOI / 81U0i-

360

360

USIUIH / SBieq / 2131y / 0eg / o1laY

USIUIH / Seieq / 8131y / oeg / olleY

)/

GWD3746 | GWD3747 | GWD3748 |




40

Mounting of busbar holders 800A-1250A-1600A for external compartment with short frame

Montaggio portabarre 800A-1250A-1600A per vano esterno con telaio ridotto

Montage supports de barres 800A-1250A-1600A pour gaine a cable externe avec chassis court

Montaje portabarras 800A-1250A-1600A para vano externo con bastidor reducido

Montage Sammelschienenhalterungen 800A-1250A

1600A fur externes Abteil mit kurze Rahmen

BUIOA / 8lUdlH / JUBAY / JUOI / ©)Uoi4

(/I B )

USIUIH / Seieq / SJRulY / Yoeg / oneY

GWD3746 | GWD3749 |




Montaggio barre sagomate in alluminio 630A-800A su portabarre lineare 41
Mounting of aluminum busbars with shaped section 630A-800A on linear busbar holders
Montage de barres profilées en aluminium 630A-800A sur supports de barres alignés
Montaje barras perfiladas de aluminio 630A-800A en portabarras lineal

Montage Aluminium-profil-sammelschienen 630A-800A (iber Sammelschienenhalter gerade

L)

M8 (6x)

M8x120 (6x)

GWD3755 | GWD3757




Montaggio portabarre 630A-800A per quadro singolo B=600/850 mm
Mounting of busbar holders 630A-800A for single board W=600/850 mm
Montage supports de barres 630A-800A pour tableau seul L=600/850 mm
Montaje portabarras 630A-800A para un unico cuadro B=600/850 mm
Montage Sammelschienenhalterungen 630A-800A flir Schrank B=600/850 mm

42

600 (24 mod.)
850 (35 mod.)
L]
0
]
L]
i
L]
0
M8x16 (4x) [
L)
i
o
L]
i
L
0
560 /760 —

"

GWD3755 | GWD3757




Montaggio barre sagomate in alluminio 630A-800A su portabarre scalare 43
Mounting of aluminum busbars with shaped section 630A-800A on scaled busbar holders

Montage de barres profilées en aluminium 630A-800A sur supports de barres étagés
Montaje barras perfiladas de aluminio 630A-800A en portabarras escalado
Montage Aluminium-profil-sammelschienen 630A-800A liber Sammelschienenhalter versetzt

<— 60 —><— 60 —><— 60 —>

el
5
P

M8x130 (3x)

M8x230 (3x)

M8 (6x)

M6x100 (9x)

GWD3754 | GWD3759 | GWD3761




Montaggio portabarre 630A-800A per quadro con vano affiancato e vano esterno

Mounting of busbar holders 630A-800A for board with side compartment and external compartment

44

Montage supports de barres 630A-800A pour tableau avec gaine a cébles latérale et gaine a cables externe
Montaje portabarras 630A-800A para cuadro con vano externo y vano externo
Montage Sammelschienenhalterungen 630A-800A fiir Schrank mit seitlichem Abteil und externes Abteil

600+300 (24 mod.)

B o B o B

g

M8 (4x)

GWD3759 | GWD3761




Montaggio portabarre 630A-800A per quadro singolo B=600/850 mm e con vano affiancato con telaio ridotto 45
Mounting of busbar holders 630A-800A for single board W=600/850 mm and board with side compartment with short frame

Montage supports de barres 630A-800A pour tableau seul L=600/850 mm et tableau avec gaine a cébles latérale avec chassis court
Montaje portabarras 630A-800A para un unico cuadro B=600/850 mm y cuadro con vano externo con bastidor reducido
Montage Sammelschienenhalterungen 630A-800A fiir Schrank B=600/850 mm und Schrank mit seitlichem Abteil mit kurze Rahmen

C

£ S
T S
~ ~
%) ]
g 5
3| &=
~ ~
ol | =
<3 I g
£l |0 Z
JHi »
3l S
© D L
m D ~
~ [}
gl L g
2 (=

306
S )
2010 I S
||| I =
~| |l I ~
8l (o I 2
CAM I o
ol |l I T
c| |l I g
gl | i £
JH (i 0 z
=l 0 S
g |l ﬂ S
~| [0 [ °
g B
Rl il 5
<306

GWD3754 | GWD3764 | GWD3765 |




Montaggio portabarre 630A-800A per vano esterno con telaio ridotto 46
Mounting of busbar holders 630A-800A for external compartment with short frame

Montage supports de barres 630A-800A pour gaine a cable externe avec chassis court
Montaje portabarras 630A-800A para vano externo con bastidor reducido
Montage Sammelschienenhalterungen 630A-800A flir externes Abteil mit kurze Rahmen

e e e e e e

] 5
¢ =3 N s s o

Y

306

Retro / Back / Arriere / Detras / Hinten
Fronte / Front / Avant / Frente / Vorne

GWD3754 | GWD3766




Montaggio barre sagomate in alluminio 1250A-1600A su portabarre scalare

Mounting of aluminum busbars with shaped section 1250A-1600A on scaled busbar holders

Montage de barres profilées en aluminium 1250A-1600A sur supports de barres étagés
Montaje barras perfiladas de aluminio 1250A-1600A en portabarras escalado

Montage Aluminium-profil-sammelschienen 1250A-1600A Gber Sammelschienenhalter versetzt

<— 60 —><— 60 —>|

<— 60 —>]

47

200

GWD3756 | GWD3758 | GWD3760 | GWD3762 | GWD3763

©

M6 (18x)

s

M8x230 (3x)




Montaggio portabarre 1250A-1600A per quadro singolo B=600/850 mm
Mounting of busbar holders 1250A-1600A for single board W=600/850 mm
Montage supports de barres 1250A-1600A pour tableau seul L=600/850 mm
Montaje portabarras 1250A-1600A para un unico cuadro B=600/850 mm
Montage Sammelschienenhalterungen 1250A-1600A fir Schrank B=600/850 mm

600 (24 mod.)
850 (35 mod.)

[=

M8x16 (4x)

e B s B e B & B e BH e 95 = 5

=l

560/ 760

|

M8 (4x)

GWD3756 | GWD3758

48




Montaggio portabarre 1250A-1600A per quadro con vano affiancato e vano esterno
Mounting of busbar holders 1250A-1600A for board with side compartment and external compartme

49

nt

Montage supports de barres 1250A-1600A pour tableau avec gaine a cables latérale et gaine a cables externe

Montaje portabarras 1250A-1600A para cuadro con vano externo y vano externo
Montage Sammelschienenhalterungen 1250A-1600A fur Schrank mit seitlichem Abteil und externes Abteil

600+300 (24 mod.)

L]
i}
=]
e
T
0
9
o}
[
i}
[
i}
®
0
1]
0
1]
A N
400
Iy iy
il il

GWD3760 | GWD3762

M8 (4x)




Montaggio portabarre 1250A-1600A per quadro singolo B=600/850 mm e con vano affiancato con telaio ridotto 50
Mounting of busbar holders 1250A-1600A for single board W=600/850 mm and board with side compartment with short frame
Montage supports de barres 1250A-1600A pour tableau seul L=600/850 mm et tableau avec gaine a cables latérale avec chassis court
Montaje portabarras 1250A-1600A para un unico cuadro B=600/850 mm y cuadro con vano externo con bastidor reducido
Montage Sammelschienenhalterungen 1250A-1600A flr Schrank B=600/850 mm und Schrank mit seitlichem Abteil mit kurze Rahmen

M8 (4x)

Retro / Back / Arriere / Detras / Hinten
Fronte / Front / Avant / Frente / Vorne

T e e e e e s e e e

f= e N e e e e e s e e e e

306
c M8x16 (4x)
[0}
2l 11
T >
P U P
\© D D -—
5| |I0 ] 3
al | [ &
S|E o I =
8| | [ S
E|||0 | Z
S
X
|l ] 2
21l I >
o | ] £
2 [] (] e
<308

GWD3763 | GWD3764 GWD3765|




Montaggio portabarre 1250A-1600A per vano esterno con telaio ridotto 51
Mounting of busbar holders 1250A-1600A for external compartment with short frame

Montage supports de barres 1250A-1600A pour gaine a cable externe avec chassis court
Montaje portabarras 1250A-1600A para vano externo con bastidor reducido
Montage Sammelschienenhalterungen 1250A-1600A fur externes Abteil mit kurze Rahmen

S
M8 (4x)

M8 (2x)

e e e e e e
] 5
o Y e Y s ) s

306

Retro / Back / Arriére / Detras / Hinten
Fronte / Front / Avant / Frente / Vorne

GWD3763 | GWD3766




Montaggio traverse per barre in orizzontale per quadro singolo B=600/850 mm e P=800 mm 52
Mounting of crosspieces for horizontal busbars for single board W=600/850 mm and D=800 mm
Montage traverses pour barres horizontales pour tableau seul L=600/850 mm et P=800 mm

Montaje largueros para barras horizontales para un unico cuadro B=600/850 mm y P=800 mm
Montage von kreuzstiick flir Sammelschienen horizontal fir Schrank B=600/850 mm und T=800 mm

M8x16 (4x)
Fronte / Front / Avant / Frente / Vorne

o °
808 808

(®) )

® @

i DX SX H
ﬂ[o (o) =1 (@) =1 (@) (=1 (@) =1 (8] = (®) (=] (@) (= @) (= o) O]D

Iietro / Back / Arriere / Detras / Hiaen

)

PECECREORO0000EO

Montaggio traverse per barre in orizzontale per vano esterno P=800 mm

Mounting of crosspieces for horizontal busbars for external compartment D=800 mm
Montage traverses pour barres horizontales pour gaine a cable externe P=800 mm
Montaje largueros para barras horizontales para vano externo P=800 mm

Montage von kreuzstlick fir Sammelschienen horizontal fir externes Abteil T=800 mm

Fronte / Front / Avant / Frente / Vorne

ofl © D (@0
1 ®
(o} Lo} [n]
®
(0] 0]
(0] 0]

0] 0]
0] 0]
o] O

oo oo -0 m]‘u

Retro / Back / Arriére / Detras / Hinten

M8 (4x)

eHe

0
®
D
®
0
9
0
@
L
L]
L
L]
D
®

0
[
0
@
0
L)
L
9
0
L
D
L

1.

GWD3767 | GWD3768 | GWD3769 |




Montaggio portabarre per barre piatte in orizzontale 800A-1250A-1600A

Mounting of busbar holders for horizontal flat busbars 800A-1250A-1600A

Montage supports de barres pour barres plates horizontales 800A-1250A-1600A

Montaje portabarras para barras planas horizontales 800A-1250A-1600A

Montage Sammelschienenhalterungen fur flache Sammelschienen horizontal 800A-1250A-1600A

GWD3745

53




Montaggio portabarre per barre sagomate in rame in orizzontale 800A-1250A-1600A

Mounting of busbar holders for horizontal copper busbars with shaped section 800A-1250A-1600A
Montage supports de barres pour barres profilées en cuivre horizontales 800A-1250A-1600A
Montaje portabarras para barras perfiladas de cobre horizontales 800A-1250A-1600A

Montage Sammelschienenhalterungen fur Kupfernprofil-sammels horizontal 800A-1250A-1600A

GWD3746

54




b

GWD3754

GWD3763

Montaggio portabarre per barre sagomate in alluminio in orizzontale 630A-800A-1250A-1600A 5 5
Mounting of busbar holders for horizontal aluminum busbars with shaped section 630A-800A-1250A-1600A
Montage supports de barres pour barres profilées en aluminium horizontales 630A-800A-1250A-1600A
Montaje portabarras para barras perfiladas de aluminio horizontales 630A-800A-1250A-1600A

Montage Sammelschienenhalterungen fur Aluminiumprofil-sammels horizontal 630A-800A-1250A-1600A

Fronte / Front / Avant / Frente / Vorne

P




Collegamento con viti a martello
Connection with hammer screws
Connexion avec vis a téte marteau
Conexion con tornillos de retencion
Anschluss mit Hammerkopfschrauben

52

-\\}%\%\\\\IW
=

= -
.

Sl

N°20 M8x22

N° 20 M8x25 (GWD3714)
N° 20 M8x35 (GWD3715)

Contenuto della confezione
Contents of the package
Contenu de I’emballage
Contenido del embalaje

Inhalt der Verpackung

N° 20

N°20 M8

GWD3771
GWD3772
GWD3773
GWD3774

Cavo con capicorda (sezione < 25mm?)
Cable with cable terminal (section < 25mm?
Cable avec cosse (section < 25mm?)

Cable con terminal (seccion < 25mm?)

Leiter mit Kabelschuh (Durchmesser < 25mm?)

Barre flessibili isolate (L = 25mm)
Insulated flexible busbars (L < 25mm)
Barres flexibles isolées (L < 25mm)

Barras flexibles con aislamiento (L < 26mm)
Isolierte flexible Sammelschienen (L < 25mm)

Cavo con capicorda (sezione = 25mm?)
Cable with cable terminal (section > 25mm?
Cable avec cosse (section = 25mm?)

Cable con terminal (seccion = 25mm?)

Leiter mit Kabelschuh (Durchmesser = 25mm?)

//
M M8x22

Trecce flessibili isolate
Insulated flexible braids

Tresses flexibles isolées

Barras trenzadas flexibles aislantes
Isolierte flexible Kupferbander

M8

M8x22

Barre rigide
Rigid busbars
Barres rigides
Barras rigidas
Starre Sammelschienen

GWD3714 (M8x25) |GWD3715 (M8x35)

\ ]
Barre flessibili isolate (L > 25mm)
Insulated flexible busbars (L > 25mm)
Barres flexibles isolées (L > 25mm)
Barras flexibles con aislamiento (L > 25mm)
Isolierte flexible Sammelschienen (L > 25mm)
M8
\\

Punto di contatto indicato in adempimento ai fini delle direttive e regolamenti UE applicabili:

Contact details according to the relevant European Directives and Regulations:

GEWISS S.p.A. Via A.Volta, 11T-24069 Cenate Sotto (BG) Italy tel: +39 035 946 111 E-mail: qualitymarks@gewiss.com

+39 035 946 111 /\
SAT J 8.30-12.30/14.00- 18.00 ﬁ ) +39 035 946 260
lunedi + venerdi - monday - friday \g7_2h

sat@gewiss.com
www.gewiss.com

cod. 7.57.4.4490

ULTIMA REVISIONE 03/2021



